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QUESTION ONE [14 + 6]
Translate the passage, choosing the form of the verb which fits the context:

Ano?\)\oﬁwpog €ue 1dixknoe psycx?\cx kal (katéom/katéotnoev) fudg
nocvtrxq ei¢ TOAATV G amopiav. pocptupaq yap 1psu55u; (avaotag/ocvaomctxq)
&v 1§ dikaotnpiw eldev & sps Kal upnpa fitnoe péya. éyw ovv ocpsﬂtwv
10 Tiunpa tff méAer kai eic attp.wv (Karacrag/mradmcag), €k TG
moAews (¢Eavéotnoa/éEavéotny). sn:su:a 0, €k Tfig matpidog (Gvaotic/
dvaotriong), eig Méyapa dnfiABov, oD eic meviav (kataotag/kataotrhouc)
guevov o #rn.



QUESTION TWO [9 + 6]
Translate these sentences, then change the aorist passive verbs, with their
subjects if necessary, to singular or plural as appropriate.

a. ol pev yap Swkactod vmod tig dmoAoyiag ovk émeioBnoav, Eyw 8¢ ~
chte&mcﬂnv
b. &AA pr]v ol Suxcpspsl Hot €l pr| arte?\venq, GAAG katedikdodng.
kol y&p obrog 6 Adyog s)\sxen Umo Tob dvnidixov,
d. Oueig 8¢ AdwkrBnte Ord tovtov peydAa.
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QUESTION THREE [9 + 6]
Translate each statement, then, using the verbs given, turn them into indirect
~ statements

0 katrjyopog omovdoérards totiv &vBpdmwy. (enuiZeny)

gyw eig péyav kivduvov katéotnv. (enoi/Een)

aei Aéyovoi 11 detvov ot avridikor. (nyoupat/nyoupnv) )

6 Ztégavog eloriyayev elg todg @pdrepag Todg dAAotpioue mn&xq
(cpacnlscpaaow)

5 1 Nsmpa ovK awxuvstou mmcp povolioa T@v vopwv. (tic ovk &v ofoito; S
Tic oUk ofetar;) B o

6. EPovAdueba téte Tipwpeiobon ol stpouc; (papév/Epapev)
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QUESTION FOUR | [20]
Translate into Greek '
Stephanos will say that Apollodorus began their enmity
Apollodoros said that he wanted to avenge himself on Stephanos.
Apollodoros will say the he did not wrong Stephanos.

Many men put down a lot of money on Neaira’s account.
Apollodoros says that Stephanos is living with a slave as his wife.
If only I could remember the arguments of the prosecutor!

If I were a Sophist, I would be remembering these arguments.
Phrynion knew that Neaira was in town and had the money.
Stephanos says that Neaira will be wronged by nobody.
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QUESTION FIVE
(a) Translate into English: (70)
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The prosecutor describes how the man Timarkhos, on trial for immoral behay-
iour, left Antikles to live with the slave Pittalakos. Timarkhos soon deserted
Pittalakos to live with Hegesandros.
(From Aiskhines Timarkhos, 53-62)

@AAG T peta tabta £p®. Smwe dxotoecBe, & &vlpeg Sikaotad. d¢ yap
arnAAdyn mapd tob AvrtikAéoug Tiuapxog obtoot, dinpépevev &v 1§
kuBel. TV 8 xuBevtdv oti Tic IhredAaxog, oikérng tiig méAewc.
obrtog, 18av Tipapxov &v 1@ kuPelw, dvélapev adtov kal Zoye Tap’
EQUTE.

kai téq GPpeig dg €yd olda capds yevoudvac omd ToB avBpmou
ToUTOL £ig Tipapxov, &ye ud tov Afa tov ‘OAvumiov 0k &v ToAurcaiu
npds VudG eimeiv. viy Alx, kdxior dmoloiunv e pveiav moroBuo
TQV ToloUTwv. Eyw ydp, &l &v Oyiv eimonn & ovroot gmpatev, ovk dv
duvaiunv v Liv.

&v 82 tolty watamAel Sebipo £ ‘EAAnondvrov ‘Hyrjoavdpoc, o0 tdv

. Tpdmov &dikov Bvra kai dAfywpov Upeis fote kdAAiov i Eyd. elopoit@v

&’ obrog &¢ OV InTrdhakov ovykuBevtiiv Svta, kai Tipapxov #xet

TpddTov 18wV, £BovAeto (g abTdV dvahapeiv. ol Yap fiyricato adtdv

EYYUS eivan TG adtod @loewc.

The jilted Pittalakos, trying to get Timarkhos back, is beaten up for his pains and
next day takes refuge at an altar, where Timarkhos appeases him.

w6 &' ammAAGyn pév mapd tob Mirraddkov, aveArip6n 6¢ brd HynodvSpov,
wpyiobn 6 MtrdAaxog, yvodc tocodtov dpydprov udmv Onép Tiudpyov
artabels, kai pofra éni v oixiav v ‘Hynodvpov moAdxig. Ste §°
avT® wpyifovto port@vrt ‘HyAosavdpos kai Tipapxos, elonndroavreg
VUKTWp €ig TV oikiav o Gker 6 MirrdAakoc, TPGOTOV HEV cuvETpifov
& okeln, Téhog 8¢ adTdV TOV Mitrdhakov ETumtov TOADY Xpovov. tfj
& Votepaia, dpyrodeis 16 mpdypart 6 MrrdAaxog Epxeton youvde eic

MV &yopdv kai kabiler &mi tov Pupdy tov TAG UNTpdS TOV Bedsv. Syhov

b€ ouvdpaudvrog, § te ‘Hyfoavdpoc kai & Tipapyog tpéxovot mpdc Tdv
Buoudv kol meprotdvreg é5éovto Tod Mrradkov avaotfival, pdokovrec
10 SAov mpiypa mapowiav yevéoBar. xal avtog 6 Tipapxos £aoke
navta mpaxbricecar O¢” adtod, Tod Mrrakdkov dvaotdvrog. téhog 8¢
neiBovorv abTov dvaothivet dmd 06 Pwpod.
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(b)

Analyse and explain the following words: (10)

i)
i1)

i)

iv)

v)

Vocabulary

amnAAdyn aor. pass. of draAAdrrw release
dinuepedw spend one’s days

kvPeiov, t6 casino, gambling-den (2b)
kvPevtrg, 6 gambler (1d)

{fiv inf. of {dw live

OAiywpog ov disdainful

ELCQOITAW go into

ouyKLBeLTY|S ¢f. kvPevTrig

U0, 1 nature (3e)

‘udTnv to no purpose

gottdw cf. elopoitdw

VOKTW at night

cuvtpiPw smash up

votepaia, 1 next day (1b)

yupvog 1j 6v naked

SxAog, 0 crowd (2a)

(QAaoKw assert

mapoivia, 1} drunken behaviour (1b)

KuPBevtdv (3)
vevopévag (6)
gimoyu (9)
ouvdpapdvtog (24)
avaotijvai (25)



